[ Efficiency vs vertpos |
0.1

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

1.0

.................................................

.................................................

................................

o

|_|_|_Qq_|_|.|l LR L L LN LR AL R RRR RN RRLRN AR
b e . 0
b
0
e
)
) ¢
n
LY
A
3

0.95 : : :
1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_original
Efficiend —— pom_TT__mkFit-DQM_modifieds

o o
o ©
o B
TTTIITT]
——
—.h_i
—
.1..:-'?..1.... eeeadesnadanaadannadanandannndannn
F
;-' E
YO
3 :
o
——
——
——
=

*
J_\,Cllll'llll|||||||||||||||||||
0.95] 1 : 1 H 1

=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

| ST 414 - 4} 1+ 141
I <+
L +




	Contents
	Page 1


